Industrial Solutions Partner!

SSF/SSH3585-Y V1
35.8” TFT LCD, 1000 nits LED Backlight , 1920x532 ultra-wide aspect ratio 16:4.4

The SSF/SSH3585-Y is a 35.8 inch color TFT-LCD display with special aspect ratio 16:4.4 and wide resolution
1920 x 532. It is Litemax’s Spanpixel series product which designed for high brightness 1000 nits with power
efficiency LED backlight. It provides LCD panel with specific aspect ratios and sunlight readable for digital
signage, public transportation, exhibition hall, department store, and vending machine.

Key Features

= 35.8” Stretched LCD

= Ultra-Wide Screen (16 : 4.4)
= High Brightness 1000 nits

= LED Backlight

= Low Power Consumption
BL MTBF: 50,000 hours

Model Name
Description

Screen Size

Display Area (mm)
Brightness

Resolution

Aspect Ratio

Contrast Ratio

Pixel Pitch (mm)

Pixel Pre Inch (PPI)
Viewing Angle

Color Saturation (NTSC)
Display Colors
Response Time (Typical)
Panel Interface

Input Interface

Input Power

Power Consumption
0SD Key

OSD Control
Dimensions (mm)

Bezel Size(U/B/L/R)
Weight (Net)

Operating Temperature
Storage Temperature

SSF/SSH3585-Y V1

35.8” TFT LCD, 1000 nits LED backlight, 1920x532
35.8”

878.112(H) x 239.081(V)

1000 cd/m?

1920x532

16:4.4

4200:1

0.45735(H) x 0.4494(V)

55

178°(H),178°(V)

81%

16.7M

9.5ms

LVDS

VGA,DVI-D,HDMI,DP

DC 24V

56W, 60W (with AD board)

4 Keys (Power Switch, Menu, +, -)
Brightness, Color, Contrast, Auto Turing, H/V Position...etc
895.51(H) x 265.68(V) x 31.1 (T)
11.9/11.9/7.3/7.3 mm

4.8kg

0°C~50°C

-20°C~60°C

SSF= Panel + LED Driving Board
SSH= Panel + LED Driving Board + AD Control Board

Specifications are subject to change without notice.
All brands or product names are trademarks or registered trademarks of their respective companies.

2022/9/26



Industrial Solutions Partner!

Mechanical Drawing

Outline Dimensions Unit:mm
3-895.51 +1 ,OUTLINE
3-880.91 +1 ,BEZEL OPENING
(3859) (50) (59.76 ) (50) (59.76 ) (50) (59.77) (50) (59.76 ) (50) (59.77) (50) (59.76 ) (50) (59.76 ) (50)
—~ (73)
g
< ~—— Vo7
m — — — ] — —
~ |
| |
"5 |
d 9
9lg ‘
g ; | ! B78.11 ,ACTIVE AREA )
P 1 e s o ||
el IS
b | =
€| B I & [
e <
=l & Iy
4 g g | ‘
= | I
| A IE
—
W

T 1
_J@kﬂ RN e i RN Ry e Ay L Ry A € 1
1 A A A A A il

i ] |

NOTES:
1.UNLESS OTHERWISE SPECIFY TOLERENCE IS +1.0mm.
2.SYSTEM INTEGRATION COMPANY MUST KEEP MODULE UP AND DOWN DIRECTION
ON THE DRAWING TO DESIGN TV SET.
3 B " SUGGEST MOUNTING AREA POSITION, NO MARK AREA CAN'T BE CLIPPED.
47 N " COF POSITION (SI MECHANICAL STRUCTURE SHOULD NOT TOUCH THE POSITIONS OF COF).
5.SCREW HOLES TYPE:
SCREW A: M3, PITCH=0.5/MACHINE, MAX. TORQUE=8 KGF-CM, MAX. DEPTH= 2.5 mm.
SCREW B: M3, PITCH=0.5/MACHINE, MAX. TORQUE=6 KGF-CM, MAX. DEPTH= 5 mm.
6.STANDOFF TYPE :
STANDOFF A: M3, PITCH=0.5/MACHINE, MAX. TORQUE=30 KGF—-CM, MAX. DEPTH=5mm.
7.THE WIRE AND FFC CABLES OF THE SYSTEM INTEGRATION COMPANY
CAN'T OVERLAP THE SCREW HOLES OF THE REAR COVER.
8.THE WIRE AND FFC CABLES OF THE SYSTEM INTEGRATION COMPANY
CAN'T BE UNDER THE POWER PCBA.

2 2022/9/26



Industrial Solutions Partner!

18541 (CTRL_COVER

3114 1 {CNV_COVER)

777 R

3.5+ 0.5
35405 —'-f
3-16.£1 3-16%1
433 433
272,76 220
= 220 192,76
] 2.7 TAN| F) 132,76
E o=
] — = o o
J [ I3 [ 3 I ] =] ] ]
- b=
=3 PART NO. DATE_CODE H = = il
) 5
11 N Q
‘2 ®C . L)
i — p— o R, I
2 K . B <3
4 (P ) i
p=i [DATE Ccoge] Lapscare g
N =\ ] ] G |
od [ JC JC 11 §e
g
§ |- 212.76 (STANDOFF) 50 |
240 13276
272,76 192,76
h 2-433 240
2-433
NOTES:

1.UNLESS OTHERWISE SPECIFY TOLERENCE IS +1.0mm.
2.SYSTEM INTEGRATION COMPANY MUST KEEP MODULE UP AND DOWN DIRECTION
ON THE DRAWING TO DESIGN TV SET.
. " SUGGEST MOUNTING AREA POSITION, NO MARK AREA CAN'T BE CLIPPED.
4" § " COF POSITION (SI MECHANICAL STRUCTURE SHOULD NOT TOUCH THE POSITIONS OF COF).
5.SCREW HOLES TYPE:
SCREW A: M3, PITCH=0.5/MACHINE, MAX. TORQUE=6 KGF-CM, MAX. DEPTH= 2.5 mm.
SCREW B: M3, PITCH=0.5/MACHINE, MAX. TORQUE=6 KGF-CM, MAX. DEPTH= 5 mm,
6.STANDOFF TYPE :
STANDOFF A: M3, PITCH=0.5/MACHINE, MAX. TORQUE=30 KGF—CM, MAX. DEPTH=5mm.
7.THE WIRE AND FFC CABLES OF THE SYSTEM INTEGRATION COMPANY
CAN'T OVERLAP THE SCREW HOLES OF THE REAR COVER.
8.THE WIRE AND FFC CABLES OF THE SYSTEM INTEGRATION COMPANY
CAN'T BE UNDER THE POWER PCBA.

3 2022/9/26



Industrial Solutions Partner!

2- 128

k=
@ HO! HO1
DETAL H
SCALE 2:1 DETAL G
SCALE 51

SECTION  V02-V02

DETAL A SECTION  VO1-VO! w8
Al 1
SCHE SCALE 21 ':l

SECTION  HO2-HO2 SECTION  HO1=HO1

©)
NSy
mwmf

SEE DETAL G

DETAL A Voo ]

? o [FART O] (BATE G508 © [ 733 o . e
T L o} =1 3 J \®
T T i
1l I B -
St
SEEDETAL D
o} @_ 3
ﬁ N 3 RO) " SECTION  V04-V04
DETAL D
SCAE 211
LS @g
é sie nﬁu‘\; ) ° ° (-]
SECTION  VOB-V06 b \®

V03

DETAL € -
SCALE & SECTION  v03-v03

DETAL E SECTION  V02-v02 ALE i DETAL F
SCALE 21 SCALE i1

SECTION  VO5-V05

NOTES:
T.UNLESS OTHERWISE SPECIFY TOLERENCE IS £1.0mm.
2.5YSTEM INTEGRATION COMPANY MUST KEEF MODULE UP AND DOWN DIRECTION
ON THE DRAWING TO DESIGN TV SET,
3" :=¢== SUGGEST MOUNTING AREA POSITION, NO MARK AREA CAN'T BE CLIPPED.
4" § " COF POSITION (SI MECHANICAL STRUCTURE SHOULD NOT TOUCH THE POSITIONS OF COF).
5,SCREW HOLES TYPE:
SCREW A: M3, PITCH=0.5/MACHINE, MAX. TORQUE=6 KGF-CM, MAX. DEPTH= 2.5 mm.
SCREW B: M3, PITCH=0.5/MACHINE, MAX. TORQUE=6 KGF-CM, MAX. DEPTH= 5 mm.
6.STANDOFF TYPE :
STANDOFF A: M3, PITCH=0.5/MACHINE, MAX. TORQUE=30 KGF-CM, MAX. DEPTH=5mm.
7.THE WIRE AND FFC CABLES OF THE SYSTEM INTEGRATION COMPANY
CAN'T OVERLAP THE SCREW HOLES OF THE REAR COVER.
8.THE WIRE AND FFC CABLES OF THE SYSTEM INTEGRATION COMPANY
CAN'T BE UNDER THE POWER PCBA.

4 2022/9/26



Industrial Solutions Partner!

(2-285)

(40)

e % A Ef’y

(43.1)

(51.6)]
(485)

(209)

NOTES:
1.UNLESS OTHERWISE SPECIFY TOLERENCE IS +1.0mm.
2.SYSTEM INTEGRATION COMPANY MUST KEEP MODULE UP AND DOWN DIRECTION
ON THE DRAWING TO DESIGN TV SET.
3" B " SUGGEST MOUNTING AREA POSITION, NO MARK AREA CAN'T BE CLIPPED.
4" N " COF POSITION (SI MECHANICAL STRUCTURE SHOULD NOT TOUCH THE POSITIONS OF COF).
5.SCREW HOLES TYPE:
SCREW A: M3, PITCH=0.5/MACHINE, MAX. TORQUE=6 KGF-CM, MAX. DEPTH= 2.5 mm.
SCREW B: M3, PITCH=0.5/MACHINE, MAX. TORQUE=6 KGF—CM, MAX. DEPTH= 5 mm.
6.STANDOFF TYPE :
STANDOFF A: M3, PITCH=0.5/MACHINE, MAX. TORQUE=30 KGF-CM, MAX. DEPTH=5mm.
7.THE WIRE AND FFC CABLES OF THE SYSTEM INTEGRATION COMPANY
CAN'T OVERLAP THE SCREW HOLES OF THE REAR COVER.
8.THE WIRE AND FFC CABLES OF THE SYSTEM INTEGRATION COMPANY
CAN'T BE UNDER THE POWER PCBA.

5 2022/9/26



Industrial Solutions Partner!

Ordering Information

Part Number Description

SSF3585-YNN-A11 35.8",1000nits,1920x532,LID on LCM,3in1,V1

SSH3585-YNN-J11 35.8",1000nits,1920x532,LID on LCM,AD5827GDHP,DC24V,3in1V1
Part Number Description

840613141200 ADAPTER,AC/DC,24V/7.5A,180W,FSP180-AAAN3,Power-Din,P
810618301010 CABLE,POWER,AC,1830mm USA type

810618301090 CABLE,POWER,AC,1830mm Europe type

810618301050 CABLE,POWER,AC,1830mm UK type

810618301170 CABLE,POWER,AC,1830mm Australia type

810618301031 CABLE,POWER,AC,1830mm Japan type

Customer request
Touch SCT (Single-Touch), PCT (Multi-Touch)

Glass Tempered glass, AR coating........

6 2022/9/26


http://60.250.163.62/easy/search_docubanking.asp?part_no=810618301010#whereuse
http://60.250.163.62/easy/search_docubanking.asp?part_no=810618301090#whereuse
http://60.250.163.62/easy/search_docubanking.asp?part_no=810618301050#whereuse
http://60.250.163.62/easy/search_docubanking.asp?part_no=810618301170#whereuse
http://60.250.163.62/easy/search_docubanking.asp?part_no=810618301030#whereuse

